Sec 7-6:  Function Operations
Function Operations
Addition (f + 8)(x) = flx) + g(x)
Multiplication (f - g2)(x) = f(x) - g(x)
Subtraction (f — 9)x) = f(x) — g(x)

Division (g)(x) - % gx) #0

Use these three functions:
f(x)=x*+2x-15  g(x)=x-3  h(x)=2x2-18

Perform each function operation. Simplify as much as possible.
Find the domain of the resulting function.
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State the Domain of each function.

Interval Notation:

f(x) = x> + 2x -15 Domain: @ (‘ 00 ) =0)
Domain: GZ {~ o0 ) )
(‘ 20 ) =)

g(x) =x-3

h(x) = 2x? -18 Domain: 6&

Use these three functions:

f(x)=x*+2x-15  g(x)=x-3  h(x)=2x2-18
Perform each function operation. Simplify as much as possible.
Find the domain of the resulting function.
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Use these three functions:

f(x) =x*+2x-15  gx)=x-3  h(x)=2x2-18
Perform each function operation. Simplify as much as possible.
Find the domain of the resulting function.

o (8) i g
-7 N UAS (D)D)
|
X+5

D X#E 5,0




